B AYKEIOY AATEBPA

o) nux=% = HMX=TIIJ%:>X=2KTE+% | x=21<1t+1:—g=21<7t+%t , KeZ

6 T T T
B) ovvx = = cmvx=cmv€:>x=2mt+gﬁx=2mr—g ,KeZ

T T
Y) egpx=1= 8(pX=8(pZ:>X=KTC+Z , KeZ

o0
2
0) oopx = O:>c(px c(p2:>x KTC+— , KeZ

nux=—:>nux nu3:>x 2KTE+— n x= 2K1r+1t—— e’

(S"UVX——:)(YDVX G"l)V =X = 2K7[+— KeZ

EQX = \/—:>8(pX 8(|)3:>X KTC+— , e’

oPX = \/—:>(S(pX 0(p6:>x KT[+— e’

n},tx=£:>n|,|,x m,t4:>x 21<n+— n x= 2K7t+7t—— , KeZ

opx =1=opx = cs(p4:>x Kﬂ:+— , kKeZ

MX=0=MquxX=nu0=x=2kt 1 X=2KI+T=X=KT |,

ouwx =1=ovvx = (SDV =X = 21<n+— KeZ

SQX—?DS(pX 8(p6:>X Kﬂ:+— , kKeZl

c(px—?3:>o(px c(p3:>x Kn+— KeZ

—
N

GUVX—7:>GDVX m)v =>X= 21<n+— , KeZ

epx =0=epx=ep0=>x=x1 ,

(S‘DVX=0:>GI)VX=GDVE:>X=2Kﬂ:iE , KeZ



nux=1:>npx=nug:>x:2m+g , KeZ



